General Guide for Starting Dose Selection
for a Cytotoxic Agent in Cancer Patients
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Determine dose severely toxic to

10% of rodents (STD10)
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/~ Convert from mg/kg to mg/m2

Mouse X 3
Rat X 6
Guinea-pig X 7.7
Hamster X 4.1

Is 1/10
rodent STD10 (mg/m2)
severely toxic to
non-rodents?

NO

Is rodent
an inappropriate
species?
(biochemistry, ADME,
target, etc.)

Determine non-rodent Highest
YES Non-Severely Toxic Dose
(HNSTD)

Is
non-rodent
inappropriate ?

YES

A

Convert from mg/kg to mg/m2

Dog X 20
Monkey X 12
Rabbit X 11.8

\ 4 Y

Start Dose Start Dose = 1/6
= 1/10 Rodent STD10 Non-Rodent HNSTD




